

# 212 Homework #13 key

①

a.  $m_1 x_1'' = -k_1 x_1 - k_2 x_2 + k_2 x_2 \Rightarrow x_1'' = -5x_1 + 3x_2$   
 $m_2 x_2'' = -k_2 x_2 + k_2 x_1 \Rightarrow 5x_2'' = -3x_2 + 3x_1$

b.  $m_1 x_1'' = -k_1 x_1 - k_2 x_1 + k_2 x_2 \Rightarrow x_1'' = -5x_1 + 4x_2$   
 $m_1 x_2'' = -k_2 x_2 - k_3 x_2 + k_2 x_1 \Rightarrow x_2'' = -5x_2 + 4x_1$

c.  $m_2 x_2'' = -k_2 x_2 + k_2 x_1 \Rightarrow x_2'' = -x_2 + x_1$   
 $(m_1 + m_2) x_1'' = -k_1 x_1 - k_2 x_1 + k_2 x_2 \Rightarrow 2x_1'' = -5x_1 + x_2$

d.  $m_1 x_1'' = -k_1 x_1 - k_2 x_1 + k_2 x_2 \Rightarrow x_1'' = -2x_1 + x_2$   
 $m_2 x_2'' = -k_2 x_2 - k_3 x_2 + k_2 x_1 + k_3 x_3 \Rightarrow 2x_2'' = x_1 - 2x_2 + x_3$   
 $m_3 x_3'' = -k_3 x_3 + k_3 x_2 + p(t) \Rightarrow 3x_3'' = x_2 - x_3 + p(t)$

2 a.  $\vec{x}' = \begin{pmatrix} 5 & -1 \\ 3 & 1 \end{pmatrix} \vec{x} \quad x(0) = \begin{pmatrix} 2 \\ -1 \end{pmatrix}$

$\begin{bmatrix} 1 & -1 \\ 3 & -3 \end{bmatrix} \quad \begin{matrix} x_1 = x_2 \\ x_2 = x_2 \end{matrix} \quad \vec{v}_1 = \begin{bmatrix} 1 \\ 1 \end{bmatrix}$

$(5-\lambda)(1-\lambda)+3 = \lambda^2 - 6\lambda + 5 + 3 = 0$

$\lambda^2 - 6\lambda + 8 = 0 \quad (\lambda-4)(\lambda-2) = 0$

$\lambda_1 = 4, \lambda_2 = 2$

$\begin{bmatrix} 3 & -1 \\ 3 & -1 \end{bmatrix} \quad \begin{matrix} 3x_1 = x_2 \\ x_2 = x_2 \end{matrix} \quad \vec{v}_2 = \begin{bmatrix} 1 \\ 3 \end{bmatrix}$

$\vec{x}(t) = c_1 \begin{pmatrix} 1 \\ 1 \end{pmatrix} e^{4t} + c_2 \begin{pmatrix} 1 \\ 3 \end{pmatrix} e^{2t} \Rightarrow c_1 \begin{pmatrix} 1 \\ 1 \end{pmatrix} + c_2 \begin{pmatrix} 1 \\ 3 \end{pmatrix} = \begin{pmatrix} 2 \\ -1 \end{pmatrix}$

$\begin{bmatrix} 1 & 1 & | & 2 \\ 1 & 3 & | & -1 \end{bmatrix} \quad \begin{matrix} c_1 = 7/2 \\ c_2 = -3/2 \end{matrix}$

$\vec{x}(t) = \frac{7}{2} \begin{pmatrix} 1 \\ 1 \end{pmatrix} e^{4t} - \frac{3}{2} \begin{pmatrix} 1 \\ 3 \end{pmatrix} e^{2t}$

b.  $\vec{x}' = \begin{pmatrix} 0 & 0 & -1 \\ 2 & 0 & 0 \\ -1 & 2 & 4 \end{pmatrix} \vec{x} \quad \begin{matrix} (-\lambda) \begin{vmatrix} -\lambda & 0 \\ 2 & 4\lambda \end{vmatrix} + (-1) \begin{vmatrix} 2 & -\lambda \\ -1 & 2 \end{vmatrix} = \\ (-\lambda)(-\lambda)(4-\lambda) - (4-\lambda) = 0 \end{matrix}$

$4\lambda^2 - \lambda^3 - 4 + \lambda = 0$

$\lambda = \pm 1, \lambda = 4$

$-(\lambda^3 - 4\lambda^2 - \lambda + 4) = 0$

$\lambda^2(\lambda-4) - 1(\lambda-4) = 0$

$(\lambda^2 - 1)(\lambda - 4) = 0$

